St Denys Primary School

Spellings and Times Tables

Week beginning:
_ 22" June 2020 -

Creativity, Choice, Challenge
Achievement for All




Year 5 - School Closure - Home Learning

Whilst we are not expecting you to replicate school at home, it will
be important that you all try to do some work each school day to
keep your skills up.

And don't forget to stay active!

As you will already know, schools are not yet open for Year 5
children. Here are your new spelling words and daily challenges for
Time Table Rockstars.

There is also a Y5/Y6 joint work booklet that you will be able to
collect from the school foyer each Monday. This booklet will also be
available to download on our school closure webpage.

Each morning I will still be saying 'Hello' on the Class Story page on
the Class Dojo app. You'll also be able to ask me any questions or
just tell me about what you have been up to! As I will be in school,
remember I might not be able to respond straight away. You will
still be able to post things to your Class Dojo portfolio but it might
not always be me who approves and leaves comments for you.

We will keep you informed if there are any changes to any of this.

Mr Baker




Practice Sheet
Term 3 Set 2 Week 8
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Spelling patterns homophones and near-homophones, extension

The current situation is — none of
us have passed our spelling test!

Spellings

Write

Write

Cover and write

Cover and write

past

passed

currant

current

foul

fowl

pause

paws

cymbal

symbol

SPELLING YEAR 5

Total /10
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Homophones

Homophones are words which sound the same but are spelt differently and
have different meanings.

Match the pictures to the words.

bare bear maid would
wood grate knight hare
flower stair night bee
sew be o) flour
great hair made stare




Homophones

These words are all homophones. Try to define what each one means.

or:

oar:

sale:

sail:

here:

hear:

tail:

tale:

pail:

pale:

pour:

poor:

male:

mail:




Homophones

Find homophones for these words:

week four
place serial
read son
rode know
board waste
sea heel
there tail
boy pane
right weight
witch poor

peel mail




Activity Sheet

Term 3 Set 2 Week 8

Spud’s Spelling Search

Find as many words as possible from Set 2.
You may use a list to help you.

:
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There are 32 words from Set 2 to find. They are set out horizontally,
vertically and diagonally. Some words read backwards to make it
harder. Write the words as you find them on the lines below.

SPELLING YEAR 5
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Name:

Week 4 Session 1

Times Tables

2,3,4,5,6,7,8,9,10,11,12 2019-20
Times Tables Year 5 Summer (2)

Rock Stars
Licensed to St Denys Primary School
1 7%x9=
2 8x2=
3 7x1l=
4 8x3=
5 10 x 6 =
6 7x1=
7 12x7=
8 5x 7=
9 10 x 3 =
10 7x4=
11 8x3=
12 10x10=
13 5% 3=
14 9x5=
15 5x1=
16 12 x 11 =
17 3x9=
18 2x9=
19 7%x5=
20 9x9=

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

5 a week
11 x6 = 41 7%x8=
2x7= 42 1x12 = Time taken
12x11 = 43 6x11=
- E—— 3 minute time limit &
10 x 11 = 44 9x 4=
- E— Score
3x10= 45 12x 6=
2x12= 46 6X2= 60
5x3= a7 1x10=
E— E— What's your rock status?
11 x 10 = 48 3x 4=
6x4= 49 2X90= < 18 correct in 3 mins
8x2= 50 8x12 = 18-19 correct in 3 mins
3x4= 51 2x10 = 20-21 correct in 3 mins
T 4K
1x8= 52 12 x5 = 22-24 correct in 3 mins
3X6= 53 9x 7= 25-29 correct in 3 mins
BRTAKTHROUGH ARTIFT
2X6= 54 6x11= 30-35 correct in 3 mins
2X2= 55 9x 3= 36-44 correct in 3 mins
HEADUNER
2x10= 56 Ox2= 45-59 correct in 3 mins
Ro<k 7TAR
8X6= 57 5% 3= All correct in < 3mins
- T Redhleaow
11 x 4 = 58 6 X 11 = All correct in = 2min
10 x 8 = 59 4% 8= All correct in = 1 min
5x11= 60 2Xx8= ,
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Name: Week 4 Session 2

Times Tables 2,3’4,5’6,7’8,9’10,11’12 2019-20
. Year 5 Summer (2)
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
1 13 25 37 49
9| 45 6| 48 12 | 36 12 | 48 8| 80
Time taken
2 14 26 38 50
71 70 10 (100 4| 12 11 | 44 9| 72 3 minute time limit
3 15 27 39 51 Score
3| 30 2| 12 51 20 10 | 20 12 | 96
4 16 28 40 52 60
7| 63 6| 36 9] 99 4 4 10 | 20
What's your rock status?
5 17 29 41 53
11 | 33 10 {120 3] 12 7| 84 12 |132
< 18 correct in 3 mins
6 18 30 42 54 ) ADAZE BeAAkED
11 |121 10| 30 4| 4 6| 18 11| 66 18-19 correct in 3 mins
7 19 31 43 55 20-21 correct in 3 mins
5 60 10 110 6| 24 11 11 2| 6 KR
22-24 correct in 3 mins
N /\’ \/" :/ ‘J’ ~“
8 20 32 44 56 UNAAGNED A<T
25-29 correct in 3 mins
3| 27 7] 35 11| 33 5| 40 840
BREAKTHROUGH ARTIT
30-35 correct in 3 mins
9 21 33 45 57 SUPPORT ACT
8| 40 9 /108 9| 72 8| 48 10 120 36-44 correct in 3 mins
HEADUNER
10 22 34 46 58 45-59 correct in 3 mins
7] 70 7 70 4 36 4] 8 o o Rodk2TAR
All correct in < 3mins
RO<k LEGSEND
11 23 35 47 59 & LEsENp
All correct in < 2min
2| 8 5| 30 5| 50 4| 44 945 L
All correctin = 1 min
12 24 36 48 60 ur R
8| 80 71 35 4| 28 9| 54 8| 40 TLME7 TABLE7
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Name: Week 4 Session 3

Times Tables 2,3’4,5’6,7’8,9’ 10,11’ 12 2019-20
. Year 5 Summer (2)
Rock Stars Times Tables 5 a week
Licensed to St Denys Primary School
1 2 13 4 25 8 37 2 49 2
x 11 X 12 X 12 X 12 X5
- . o Time taken
2 5 14 12 26 5 38 12 50 3
X 6 X 8 X 6 X 3 X 2
3 minute time limit &
3 4 15 6 27 12 39 7 51 5 Score
X 9 X 6 X 3 X 4 X 5
4 5 16 6 28 9 40 4 52 8 60
X 2 X 6 X 7 x 11 x 1
What's your rock status?
5 9 17 8 29 7 41 10 53 12
X 8 x 11 X5 x 7 X 6
< 18 correct in 3 mins
6 11 18 11 30 3 42 6 54 8 2 ABACE BAdkED
X 6 x 3 x 4 x 9 xg  ARAGE RO<ER
18-19 correct in 3 mins
7 5 19 5 31 5 43 9 55 10 20-21 correct in 3 mins
x 10 X 6 X 4 X 6 X 8 «/«“%
- 22-24 correct in 3 mins
8 2 20 6 32 10 44 12 56 2 uNﬁ‘NW P J
x 11 X 6 X1 X 12 X 5 25-29 correct in 3 mins
BRUAKTHROUGH ARTIT
30-35 correct in 3 mins
9 6 21 5 33 3 45 6 57 3 AUDDART AdT
x5 x 11 x 7 X 6 x 12 F7UPPORT:
36-44 correct in 3 mins
o - - HEADUINER
10 3 22 7 34 6 46 3 58 2 45-59 correct in 3 mins
x 8 x 11 x 12 X 3 X 2 Adl 2 AR
o<k #TAR
[ - - All correct in < 3mins
RO<k LEGXEND
11 7 23 7 35 9 47 9 59 6 704 LESEND
X 12 X5 X1 X 2 X 8 All correct in < 2min
All correct in < 1 min
12 4 24 8 36 10 48 3 60 4 R
X 7 x 8 x 10 X 5 x 8 TUIES TABLES
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Name:

Week 4 Session 4

Times Tables

2,3,4,5,6,7,8,9,10,11,12 2019-20
Times Tables Year 5 Summer (2)

Rock Stars
Licensed to St Denys Primary School
1 36 +9 =
2 44+11=
3 88 + 11 =
4 120+12=
5 72+12=
6 40+ 10=
7 100+ 10=
8 63 +9=
9 35 +5=
10 8+2=
11 99 + 9 =
12 8+4=
13 27 +9=
14 48 +12=
15 40 + 8 =
16 54 +9=
17 54 + 6=
18 9+9=
19 24 + 3 =
20 14+2=

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

5 a week
48 + 12 = 41 16 + 8 =
27 +3 = 42 45 + 9 = Time taken
30+ 6= 43 10 +5 =
- - 3 minute time limit &
60 + 12 = 44 56 + 8 =
- EE— Score
72+ 6= 45 54 +9 =
90 + 9 = 46 8+8= 00
20 +10 = 47 36 +4 =
E— E— What's your rock status?
72 + 9 = 49 50+ 5 = < 18 correct in 3 mins
- _ , AZE B \L =T
108 + 9 = 50 55 + 5 = 18-19 correct in 3 mins
6+2= 51 54 + 9 = 20-21 correct in 3 mins
T G&ER
25 +5 = 52 16 =2 = 22-24 correct in 3 mins
UNAHGNED A<T
60 +5= 53 84 =12 = 25-29 correct in 3 mins
BRUAKTHROUGH ARTIST
14 + 2 = 54 88 - 8 = 30-35 correct in 3 mins
SUPPORT ACT
77 + 7 = 55 44 = 11 = 36-44 correct in 3 mins
- T HEADUNER
9+3= 56 35 -+ 5 = 45-59 correct in 3 mins
9+3= 57 144 = 12 = All correct in = 3mins
o<k LEGEND
18 + 3 = 58 27 +3 = All correct in = 2min
60 + 5 = 59 5+5= All correct in = 1 min
3+3= 60 56 +7 = /

©Maths Circle Ltd 2020



Name:

Times Tables
Rock Stars

2,3,4,5,6,7,8,9,10,11,12
Times Tables

Week 4 Session 5
2019-20

Year 5 Summer (2)
5 a week

Licensed to St Denys Primary School

1

10

11

12

13

14

15

16

17

18

19

20

6x9=

9x11=

5x9=

3x10=

12x 7=

9x9=

3x11=

6 x8=

6x5=

9x12=

7%x9=

12 x 3 =

10 x9 =

8x1=

11 x12 =

8 X 6=

6x8=

9x 7=

11 x 8 =

5x11=

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

4x7= 41
3x12=7 42
2x1= 43
2x6=7 44
9x2=7 45
9x9=7 46
2x12=7 47
I1x5= 48
5x1=7 49
7x10=7 50
10+5=7 51
55+5=7 52
99+11=7 53
40+8= 54
7+7=7 55
36+9= 56
36+9=7 57
108+9=7 58
60+10= 59
33+11= 60

©Maths Circle Ltd 2020

5+5=

90 +9=

100 + 10 =

55+ 5=

54 +6 =

21 +3 =

120 + 10 =

2+2=

49 + 7 =

10 +10 =

10 + 10 =

56 + 8 =

20+ 10 =

2+2=

99 + 11 =

20+ 5=

21 + 3 =

40 + 4 =

88 + 11 =

Time taken

3 minute time limit &

Score

60

Add up your time

Mins
S1
S2
S3
S4
S5

Total

Secs
S1
S2
S3
sS4
S5

Total

Add up your score
S1
S2
S3
S4
S5

Total
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